
www.theteachersguide.com 

 Create a word problem for the following equation.           

42 ÷ 6 + 6 = n 

 

   

 

Solve 

42 ÷ 6 + 6 = n 

 

 

 

 

 

n = __________ 

Solve. 

 

 

 

 

 

 

Partition the line into sixths.  Plot a 

point to show 4 sixths. 

 

A movie lasted 2 hours and 15 

minutes.  It ended at 10:30.  Show 

the time it started on both clocks. 

 

   

Find the products of….. 

8 and 6 is ___ 

80 and 6 is ___ 

60 and 8 is ___ 

800 and 6 is ___ 

 

 

Write the number in expanded form. 

 

35689 

 

________________________ 

Show 3 fourths on the circle, rectangle, and number line. 

 

What fraction is shown by the letter v  below? 

 

 

Name:_________________________

 
Week 22 Day 1 

 
Week 22 Day 2 

75478 
+   2895 

5768 
-  579 

 

0 1 

v 
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Use the distributive property to solve. 

 

3 x 19 = n 

3 x (__ + __) = n 

( 3 x __) + (3 x __) = n 

___ + ___ = n 

n = _____ 

 

Plot a point to show 1 and a half below. 

 

 

 

 

 

_______ 

Complete the input/output table. 

Divide by 4 and add 7 

 

 

 

 

Divide one circle into thirds.  Divide the 
other circle into sixths.  Shade to show 
2 thirds on each circle. 

 

 

 

 

 

Show 6 minutes until 9:00 on  both 
clocks. 

 

 

   

 Partition the rectangle  

into fifths.  Label each unit 

fraction.  Shade to show one whole.  

  

 

 

 

Name:_________________________

 
Week 22 Day 3 

Week 22 Day 4 

Input Output 

24  

40  

16  

0 1 2 

Create and label a graph to match the table be-
low.  Choose the correct units. 

       

       

       

       

       

       

What is the area of both 

shaded rectangles          

combined? 

Chocolate 12 

Vanilla 12 

Strawberry 8 

Mint 10 

        

        

        

        

        

        

 

 

 

 

 

 

 

 

 

 

 

 

Favorite Ice Cream Flavors 



Use your ruler to create a rectangle with an area of 24 

square cm. 

 

 

Addi needs 100 m&ms for every person to play a game 

at her party.  She has 345 m&ms.  She needs enough 

for 12 people.  How many more m&ms does she need? 

 

After the party, Addi had 56 m&ms 
left.  She ate 3 sevenths of them.  How 
many does she have left now? 

Brack ran 456 meters, Liam ran 673 

meters, and Mr. Neaville ran 3         

kilometers.  How many more meters did 

Mr. Neaville run than Brack and Liam 

combined? 

Write the time. 

Name:_________________________

 
Week 22 Day 5 
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2x1 = __ 2x2 = __ 2x3 = __ 2x4 = __ 2x5 = __ 2x6 = __ 2x7 = __ 2x8 = __ 2x9 = __ 2x10 = __ 

3x1 = __ 3x2 = __ 3x3 = __ 3x4 = __ 3x5 = __ 3x6 = __ 3x7 = __ 3x8 = __ 3x9 = __ 3x10 = __ 

4x1 = __ 4x2 = __ 4x3 = __ 4x4 = __ 4x5 = __ 4x6 = __ 4x7 = __ 4x8 = __ 4x9 = __ 4x10 = __ 

5x1 = __ 5x2 = __ 5x3 = __ 5x4 = __ 5x5 = __ 5x6 = __ 5x7 = __ 5x8 = __ 5x9 = __ 5x10 = __ 

6x1 = __ 6x2 = __ 6x3 = __ 6x4 = __ 6x5 = __ 6x6 = __ 6x7 = __ 6x8 = __ 6x9 = __ 6x10 = __ 

7x1 = __ 7x2 = __ 7x3 = __ 7x4 = __ 7x5 = __ 7x6 = __ 7x7 = __ 7x8 = __ 7x9 = __ 7x10 = __ 

8x1 = __ 8x2 = __ 8x3 = __ 8x4 = __ 8x5 = __ 8x6 = __ 8x7 = __ 8x8 = __ 8x9 = __ 8x10 = __ 

9x1 = __ 9x2 = __ 9x3 = __ 9x4 = __ 9x5 = __ 9x6 = __ 9x7= __ 9x8 = __ 9x9 = __ 9x10 = __ 

10x1 = 

__ 

10x2 = 

__ 

10x3 = 

__ 

10x4 = 

__ 

10x5 = 

__ 

10x6 = 

__ 

10x7 = 

__ 

10x8 = 

__ 

10x9 = 

__ 

10x10 =   

__ 


